
 1 

 
 

Item # | Product Name:   #302059 Flag Pole Sleeve  
 

Parts List: Tools Needed: 

1.  Plastic Flag Pole Sleeve 1. Ratchet with short extension and 9/16” socket 

2. Aluminum Plate 2.Hammer or Mallet 

3. ¾” stainless steel screws qty 3 3. Lubricant (optional) 

4. 3/8 x 1 ¼” bolt qty 3, 3/8 heavy duty washer qty 3 4. 

5. 5. 

6. 6. 

 
Assembly Instructions: 
 

1. Turn the flag pole sleeve over and align the round aluminum plate with the sleeve. Secure the plate to 
the sleeve with the ¾” screws. 

2. Slide post attachment (sold separately) into the channel on the dock. Line up a threaded insert in the 
post attachment with a slot in the dock at the desired location. Secure with bolt and washers.  

 
  
 

  
 
  

 
 
 
 
 

 
 
 

 
3. Insert flag pole sleeve into the opening on the dock post attachment. Secure with the 3/8 x 1 ¼” bolts 

and 3/8 washers. Insert flag pole into the sleeve. Will fit flag poles up to 2 1/2” outside diameter. 
  
   
 
 
 
 
 
 
 
 
 

wavearmor.com 

Secure post attachment 

here. 

Secure plate here. 


